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39) How many pairs of digits are there in the number “3614729” each of which has as
many digits between them in the number as in the number series? (Both Forward and

Backward direction)

HEAT “3614729” & 3H & WH frdal oA g, OH & vq«+ & €l 3aa &
m%ﬁaﬁmm#%ﬂmsﬁtmmﬁm

a) Six. b\@\ c) Five d) More than seven e) Four

it
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40) In a certain code language, If <FRIED” is written as “ QEJCF” and “PLANT” is
written as “KOBSM”, Then how is “SHOWN"” will be written in that code language?

vs fAfRaa fe am A, Ify “FRIED” &1 “QEICF” for@T STaT & 3R “PLANT”
“kOBSM” For@T STaT &, ar 3HY F1T HT9T I “SHOWN” FT Ha for@r ST

a) HSPMV %RPM\# ¢) GRPOV d)TGPMX e) TRPMX

2, = N — ""-tl-l-/.-, +/
HOu{{ @ Pé,q “/}'\/
GLEPH ‘&/66 S,&; X
Vil '
=g
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‘Jl{oop is father of Geet and Meet is mother of Roop. Tony is sister of Tanu whose
daughter is Soni. Kanu, the husband of Meet is the grandfather of Soni. Moni is father
of Tony and brother of Preet. Kanu has only two children, both of opposite gender.

T, ?ﬁamﬁm%aﬁttﬁawaﬁm%laﬁaﬂaﬁm%maﬁ
gt 81 AT & afd s @ F g 81 A, N % Rar sk g & g
%lm#a}mra’ra—t}% glet faadia foer & 81

lﬂétlonshlp between which of the following two persons cannot be determined?
m##mam#mmmﬁﬁaﬁ ST WhdT 87
(Ndornal (onudlpdhey) A Somi=Tony = SHMekokaid — THow=> fhust

B. Roop — Tanu

Ry ( &”ﬁ,b C. Geet — Kdnu~ &~ (;V]M@ 5

L
—ﬁ D. Moni — Tony Cl‘f-d‘ - 3 Sou,
\woﬁe of them

F—
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If Sona is the sister in law of Tanu then how is Tony related to Geet?

afe Wr e @ smelt @ @Y Sl w1 AT @ FAr Faw 32

A. Sjster
\%{unt

C. Daughter

D. Mother

E. Can’t be determined

E=iiy
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Answer the questions based on the information given below.

I PO, SBI Clerk, IBPS PO, IBPS Clerk, RRB PO, RRB Clerk, LIC, and RBI are
conducting their exam on different months- September, October, November and
December on different dates either 10'™ or 19" of the month of the year 2020. All the
/mformatwn is not necessarily in the same order. -
QEPS PO exam conducted on 10th November.Not more than one exam conducted
between LIC and SBI Clerk. RRB Clerk and RRB PO are not conducted in the same
month. RRB clerk has conducted two exams before the exam which is immediately after
RRB PO exam .SBI PO conducted on even number date. LIC conducts after SBI Clerk.
Two exams are conducted between IBPS PO and RBI. IBPS clerk has conducted just
before or after the RBI exam.))

THEITE 31T, THENIMS Forch, MSIdiod N3, rSdivd Feleh, TG 931, AT Folch, TANTSHT
3R 3NEAIHTE 3reT9T-37e0T AT A =) ThaT IS F @ §- RdR, IaeaR, A9 3R RHa 3remr-
37197 ATREY UR AT Y FTeT F ALY Y 10 AT 19 TG Y| 2020 T ATARRY T & Ho & T A8 B
ety diait adiaT 10 Aae F AN i 7 Al TAITEH 3i% vHAIHTE Fod & T v @ 30w
Q&I AT LT T IS AT | AR Feaeh 3R IR 31T Tk & ALl & 3T 181 fhe A &
I Ferdh oF THET ¥ Tger &Y 1810 A fara 1 § i st diait qdiat & qia 15 gidl §1 vaaisns
3 T =T A W) AN Y A1 § | vHN3TE FoaH F a1 T3S NG Fear | Sy
ﬁmﬁgﬁtmaig;ﬁaﬁqﬁmmmaﬁm%la@ﬁwm#mﬁwﬁ#mmm
91 A AT |



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

{ Answer the questions based on the information given
_gqeLO__S“ | PO ' (M.Q%QfB ¢lancbelow.
19 ReA e RBI @6(690 SBI PO, SBI Clerk, IBPS PO, IBPS Clerk, _RRB
- N = PO, RRB Clerk, LIC, and RBI are conducting
Od’ 10 @fﬁ PO S—BTGN - | their exam on different months- September,
~ October, November and December on different
|9 Set d e, dates either 10th or 19th of the month of the
J 10 T8Ps PO |T6Ps D year 2020. All the information is not
_LD necessarily in the same order.
19 L€ | REBax BPS PO exam conducted on
7 —~ 10th November.@lot more than one exam
1o [3Bhs clo | Res g conducted between LIC and SBI Clerk. RRB
4 R S Clerk and RRB PO are not conducted in the
— same month. RRB clerk has conducted two
- exams before the exam which is immediately
Lic after RRB PO exam I PO conducted on even
' h 'm’:) Se clevyc number date. LIC conducts after SBI Clerk.
B K8 . )ng Pﬂ Two exams are conducted between IBPS PO
and RBI. IBPS clerk has conducted just before
3p) ¢ ‘%&t PO W—D_E__O,’ or after the RBI exam.

J‘LIC,
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Which of the following month and date LIC exam conducted?
A.October 10th
B.October 19th
C.September 10th
P November 19th

September 10 SBI PO

September 19 RRB Clerk

TE.None of the above October 10 RRB PO
October 19 SBI Clerk
November 10 IBPS PO
November 19 LIC
December 10 IBPS Clerk

December 19 RBI



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Four of the following are alike in a certain way and hence form a
group. Which of the following one does not belong to the group?
@ A.Exam which is immediately before RRB Clerk

(@ B.Exam which is Immediately beforeSBI Clerk

¥ C.IBPS Clerk
? D.Exam which is Immediately after LIC | [Septemberio  [SBIPO

@' E-‘W September 19 RRB Clerk
October 10 RRB PO
October 19 SBI Clerk
November 10 IBPS PO
November 19 LIC

December 10 IBPS Clerk
December 19 RBI
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Which of the following statement is/are true?

C exam conducted immediately before IBPS Clerk
B. RRB PO Conducted immediately after RBI
C.Only one exam conducted between RRB PO and LIC
D.RRB Clerk is the last exam

E.None of these September 10 | SBI PO
September 19 RRB Clerk
October 10 RRB PO
October 19 SBI Clerk
November 10 IBPS PO

November 19 LIC
December 10 IBPS Clerk
December 19 RBI
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Which of the following exam is conducted between RBI and IBPS PO?

@ALIC
B.RRB Clerk
C.RRB PO September 10 SBI PO
@IBPS Clerk September 19 RRB Clerk
E a and d October 10 RRB PO

2

October 19 SBI Clerk

November 10 IBPS PO)

-

November19 r1IC
December 10 \/I'E?PS Clerk
December 19 RBI
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How many exams are between SBI PO and SBI Clerk?
.As many as conducted before RRB clerk

7As many as conducted between LIC and RRB PO.
.One
September 19 RRB Clerk

October 10 RRB P

October 19 SBLGerk
November 10 IBPS PO

November 19 @
December 10 IBPS Clerk
December 19 RBI



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

In each of the following questions, the relationship between different
elements is shown in the statements followed by five conclusions. Find a
true conclusion.

Statements: Y
GZM.>T=S>I_3)'V<T>N2Q;

Conclusions:

AP > M

> Q

NS < V.

N>V
E.None of the above
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In each of the following questions, the relationship between different
elements is shown in the statements followed by five conclusions. Find a
true conclusion

gL P Ll Statements; ==,
R=2K=M=P; T
Conclusions:

AT <M
BZ <K
[CR >SS

L, =
. e Is true

J
< Z
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Pointing to the lady in the photograph, Mrinalini said, “Her son’s father is
the only son-in-law of my mother”. How is Mrinalini related to the lady.

Wﬁﬂ‘%mﬁrm@maﬂﬁmmﬂﬁﬁ#w --ma%a;
ﬁmﬁfrmﬂ:swﬁ#m%‘lnmﬁﬁrﬂmﬂ%m#wm%?

a) Sister

b) Mother phxrjmpq e )

c) Cousin

d) Aunt (+ - |
\e/STster or self 2 -
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TS ITFT - A, T, VA, I, 31, 0,
a'q'sﬁtﬁmﬁah?rtﬁﬁ'u’rWWW%
Sraat ofier Afene 3ty & RafRa a2 §
IRER & YA+ IiFd & v grar e ar
AT-RAT HF A H1S iy shfaa i gl

A FY ameft eg A ATAT B

fear sfdafRa afgandl

&d Y AT HT IS ATS-T8A Al ¢

I AT FTIT g S er Tt AT AT
Tt 3T Y 1Y § ST qTer 7 ST B

Eight persons — Joy, Raj, Sam, Pal, Aby, Neo,
Dev and Tia consists of a family of three
generations such that there are three
females and two married couples in the
family. For every person of the family either
both or none of the parents are alive.

Sam's sister in law is mother of Dev.

Tia is an unmarried female.

Dev's mother doesn't have any siblings.

Joy is father in law of Neo who is mother of
two children.

Raj is grandmother of Dev who is nephew of
Pal.
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RE—5Sam —3pe—sc)Neg
A#—L_) =
/ﬁ'é & DeV{

/) /S

pa Vi

Eight persons - Jc\)/y, Raj, ng, Pal, Aby,/ Neo,
Dev and Tia consists of a family of three
generations such that there are three
females and two married couples in the
family.(Eor every person of the family either
both or none of the parents are alive.

@m's sister in law is mother of Dev.

is an unmarried female.
Dev's mother doesn't have any siblings.
Joy is father in law of Neo who is mother of
two children.
Raj is grandmother of Dev who is nephew of
Pal.
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How is Sam related to Raj?

A7, Uo7 § FA 9T 872

A Daughter

B Son in law
\%

D Husband
E Wife

| = Couple
- Siblings
+ - Male
- Female

[Joy Raj ]
|

v

{ Pali Sam‘iAby._‘v Neo |

'

(Dev Tia )
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How Is Neo related to qu?
o, 9 ¥ 59 YR g9faT €72 sz

-+ Male

-» Female
b.%ster In law
B Mother in law | (Joy Raj |
C Wife o ' " .,
. {Pal Sam [Aby } Neo ]
D Daughter in law |
E Brother in law (Dev' Tia )
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There are 8 members D, E, F, G, H, I, J and K in a family which consists
of only two married couples. There is no single parent in the family. I
is married daughter of J, who has two children. J is the sister-in-law of
H. E is the only child of F. G is the sister-in-law of grandfather of E. D is
younger than K, who doesn’t have sister.

wWﬁstEFGHuaﬂTK% EA Faad r Rafea 2 & IRar &
& fY Arar-Rar & & 1, ) H RaRa ¢ & 5wE @ 5= &1 J, H A REe-ga-ar 2
EFaersaanm%mEa;ma?rﬁm-sa-m%mmm% radr T8 g

el ) am)
7@(}——9
v/ -) :
T &> =
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How is E related to the father of D?

E, D& far ¥ fF9 yoR w<fd 272

G(-)—J(-)==K(+)—H(+)
A.Granddaughter |
B.Daughter D(+/-) I(-) F(+)

C.Son
D.Nephew @
\%rrfbe determined
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If F doesn’t have brother in law, how is D related to sister in law of H?

Ife F &1 9T o1 1 oTaf &, af D, H i AT 57 of ¥ 59 v gafd g7

A.Sister [\
aughter G(-)—J(-)==K(+)—H(+)

C.Mother |
D.Sister in law & p(a/)— 1) ==F ()
E.Can’t be determined

E(+/-)
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How many male members are there in the family?

oRaR & frasr 73w Few §7 T\,
A.Two G{-}—t{) ==K(+)—H()
B.Three |

c.Four D(#/-)—— 1) =F(+)

DXan’t be determined lw)
E.None of these '
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Statement: FIT-

~\ NoAisC, FTE A, C T2 21
(g) Only Q are B. Faa O, B 2|
Along Care O. 7% C, 0 3|
Conclusions: fers: . | \
Some B being A is a possibility. . %= B T A 1T T {911 2|
WeOareA. IL.%Z 0, A
01. Ifonly conclusion I follows. 02. If only conclusion II follows.
03. If either conclusion I or IT follows. Wther conclusion I nor II follows.
05. Ifboth conclusions I and II follow.
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Statement: FAT:
Few B are X. ﬁB,X%I
Some B are not V. %= B, VA &
Al Vare Y. wft v, Y
Conclusions: ey
7No Y 1s B. , IL Y B ; '|
RELEE iy, 1FENBTHS
01. Ifonly conclusion I follows. 02. If only conclusion II follows.
@ If either conclusion I or II follows. 04. If neither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.
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Statement: FIT:
‘ Only few P are C. Fa FE P A C #
& SomeCareQ ?@EC,Q%I

Alone Q are B FFaT Q, E 2

Conclusnons s
XKAIIP can be E. [ 7+t P, E 2T T 21
}(Alchanbe C. [I. 7T Q, C BT /ol 2|

01. If only conclusion I follows. 02. If only conclusion II follows.

03. Ifeither conclusion I or II follows. Wither conclusion I nor II follows.

0S. Ifboth conclusions I and II follow.



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

If it is possible to make one meaningful word with the second, the third, the
sixth and the eight letters of the word FRAGMENT, using each letter only
once, then which of the following will be the third of that word ? If no such
word can be formed, give ‘X' as the answer and if more than one such words
con be formed; then give ‘y’ as the answer

gfe FRAGMENT 25 & g&Y, dlfiy, B0 3R 3116 31eRT & Uesh AUl Asq
TATAT AT g, I 378X Al hdd Ueh dX JAET dhlch, dl HFaAToli@d H
d iT TT 39 AsE I T 8P? Ife VAT IS e Agl SATAT ST Hehel
g, ar 3aX 'X'¢ 3R Ife v § 3 0 Usq FAd 5 df 3H S & H 'y’

(1) A RO-ET

(2) E
W RATE-



http://www.mahendras.org/

Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

many such pairs of letters are there in the word 'CORPORATE', which
have as many letters between them in the word as there are, in the
English alphabet between the same letters in sequence?

e 'CORPORATE'# &Rl & W fhaat M3 ¢, et fir ersg
3da g1 e § Toraar sl aofdATer & A e & i A &

272

NONE
ONE
TWO

MORE THAN THREE

THREE

mooO®p»
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Twelve people are sitting in two parallel rows containing six people each, in such a way that _@
there is an equal distance between adjacent persons. In row-1J, K, L, M, N and O are seated and

all of them are facing south. In row-2 U, V, W, X, Yand Z are seated and all of them are facing

north. Therefore, in the given seating arrangement each member seated in a row faces another
member of the other row. M sits third to right of K. Either M or K sits at an extreme end of the

line. The one who faces K sits second to right of Y. Two people sit between V and Z. Neither V nor

Z sits at an extreme end of the line. The immediate neighbour of V faces the person who sits

third to left of J. L and N are immediate neighbours of each other. W sits second to the left of U.

N does not face the immediate neighbour of X. Waﬂﬁﬂ'ﬁmmﬁmﬁ
B¢ AfFd 30 YR 98 § F mdes saFaat & o gaer gt @1 9fFa-1 & 4,k L, M,
N3 033 § 3 37 waft &1 7w Ao Y 3T 71 9FA-2 H U, v, W, X, Yand 235 §
IR 3 woft 1 7w IW A AR 71 sufaw, & 15 dow sgaweywr F wE d9fFd A
A% W F 7AW qfFd & Hed FeET $T 3T T M, KF e ¥ Y ¥ |
d31 g1 IT A M AT K & IHfaA BR W AT g1 98 <afad oHaT A9 KA IR T, v
& g & TIA W AT gl VIR zF AT T ARFT IS gl T Ay VIR T &
39 IR sg

a3 3p

V
gfed & 3 BR W &3 81 vF Aweaq =1 #1 7@ sgfed &y

T & W TS | dor §. LI NTF g@ & AFedd g WUF T
T 9T a7 31 N, X F Aweasr gsilt & 3R 3779 78t ol

4

Z
J &
LIRS
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Twelve people are sitting in two parallel rows containing six people each, in such a way that
there is an equal distance between adjacent persons. In row-1J, K, L, M, N and O are seated and
all of them are facing south. In row-2 U, V, W, X, Yand Z are seated and all of them are facing
north. Therefore, in the given seating arrangement each member seated in a row faces another
member of the other row. M sits third to right of K. Either M or K sits at an extreme end of the
line. The one who faces K sits second to right of Y. Two people sit between V and Z. Neither V nor
Z sits at an extreme end of the line. The immediate neighbour of V faces the person who sits

third to left of J. L and N are immediate neighbours of each other. W sits second to the left of U.
N does not face the immediate neighbour of X.
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N faces the person, who is the immediate neighbour of
N T q@ 3§ qfad $T 3T 3, s &1 fAdedd Tt &
a)U

b) X

c) Both Uand V

d)Vv

e)Z
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Which of the following person sits immediate right of X?
fArfaf@d & @ «l9 a1 FFa X & S g a7 872
a) No one sitting

b) V

c) Y

d) U

e) W
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Which of the following statement is false?
a) N sits second to the right of K

b) L sits immediate right of N

c) W:ssits at one of the extreme ends

d) U sits immediate right of Z

e) All the options are true

fArafaf@d & @ Fla a1 Fy 3T 82
a) N,K.HET WG T RAST
b) LN.FHNF ST d3TE

c) WiFHl s IfaasR R dore

d U, z.FAFeAoTd

e) UM RFeaaT


http://www.mahendras.org/

1 . 3 0 | | FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : BB47D7 /

o
There are eight family members Anupam, Bhuika, Mohini, Hitesh, Vishnu,
Ruchika, Sanshlesh and Pritam. Vishnu is uncle of Sanshlesh, who is
daughter of Pritam. There are two married couples in the family and two
grandchildren in the family. Mohini has one daughter and one son. Anupam

is granddaughter of Ruchika and sister of Bhumika. Ruchika is sister in law of
Vishnu. Mohini is not a male. Sanshlesh has only one brother.

IRER F 376 HEET 8 3T9H, 331, Alfeett, Raer, oy, s, wererer ik s
oy Ferarer T AT E, R e Y oAt | oRar # g RarRa o2 st oRar # g
mﬁm%lmﬁ?ﬁaﬁwﬁaﬁtwﬁa%lmmaﬁmﬁaﬁtmﬁm%l
xﬁmﬁwa?rmaﬁﬁm%ﬁmaﬁ%lmmarmwé’rmé%l
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There are eight family members Anupam, Bhuika, Mohini, Hitesh, Vishnu,
Ruchika, Sanshlesh and Pritam. Vishnu is uncle of Sanshlesh, who is
daughter of Pritam. There are two married couples in the family and two
grandchildren in the family. Mohini has one daughter and one son. Anupam
is granddaughter of Ruchika and sister of Bhumika. Ruchika is sister in law of
Vishnu. Mohini is not a male. Sanshlesh has only one brother.
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How Pritam is related to Hitesh?

diqe, Rdy 9 59 yoR Tefaad 82
A.Mother

B. Father

C. Brother

D. Can’t be determined

E. None of these
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How Bhumika is related to Sanshlesh?

HiAFT FA werew § gET 87

A.Son

B. Daughter

C. Niece

D. Nephew

E. None of these
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Who among the following is mother of Anupam?
frafaf@a & & #ia reqaer $r Arar 87
A.Sanshlesh

B. Hitesh

C. Mohini

D. Ruchika

E. None of these
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There are six members—P, Q, R, S, T and U are in a family. P and Q are a married
couple. P is one of the male members. S is the only son of R who is brother of P. T is
the sister of S. Q is the daughter-in-law of U, whose husband has passed away. How
many female members are there in the family?

OB AT 6 - P, Q, R, S, TR U Th IRAR HE | P 3R Q U faarfgd Jaraa g1 p qew
FeEAT A AUSH G| S, RFIShelld T ST PHTHAS G| T, ST 8151 Q, U a?rag%%,
g gfa 1 YT 8 =T 8| IRGR A Tohdsir Afgelr T &7

A. Can't be determined B.Onlyone C.Two D. Three E. None of these

it
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In a combined family Mayank and Suresh are brothers. Both have one — one son and
daughter each. Further information of their family is given below: Amar is brother-in-
law of Munesh and husband of Amal’s mother. Munesh is unmarried son of Mayank.
Vaishnavi’s father, Vikram is son of Seema who is mother-in-law of Sakshi. Mainak’s
grandmother, Kavita is mother-in-law of Amar. Madhuri and Munesh are children of
Mayank and Vikram and Tanuja are their cousins. Sakshi has two daughters and
Madhuri have two sons. Juhi and Vaishnavi are siblings.

UF YT TRAR #A A 31T GIA HTS 1 el T Teh-Teh 9T AR 91 81 3eTeh IRER
Y 3T TR A & TS §: AT HA2T T AT 31T 313 Y AT 7 Ify § 1 7T ALAF
1 faarfed I 81 deoret & e, fsnar, ST 1 qF & Y aved Hy arw &) Forem A

ardY, mmaﬁm%lﬂmﬁﬁtﬂﬁwm%a—a%ﬁtﬁmaﬁtmm
<R 51T ¥ Tah B o ARt 3T AT & Y 42 ¥1 ST 3tk dordh é g £
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In a combined family Mayank and Suresh are brothers. Both have one — one son and
daughter each. Further information of their family is given below: Amar is brother-in-
law of Munesh and husband of Amal’s mother. Munesh is unmarried son of Mayank.
Vaishnavi’s father, Vikram is son of Seema who is mother-in-law of Sakshi. Mainak’s
grandmother, Kavita is mother-in-law of Amar. Madhuri and Munesh are children of
Mayank and Vikram and Tanuja are their cousins. Sakshi has two daughters and
Madhuri have two sons. Juhi and Vaishnavi are siblings.
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How does Vaishanvi relate to Suresh?

dSorell T GIA F FAT HAY g7

A. Daughter-in-law B. Niece C. Wife
D. Granddaughter E. None of these
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Who among the following is the father of Vaishnavi?

faf@a & @ i dourdy & far £2

A. Vikram B. Amal C. Amar D. Mainak E. None of these


http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

How is Mainak related to Seema?

A, AT A 59 YR Fafdd 872

A.Son of brother in law B. Cousin of sister in law
C. Grandson's cousin D. Grandson of brother in law

E. None of these
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There are two couples — Mr. and Mrs. lyer and Mr. and Mrs. Khanna. The lyer’s have only
one child — Vineet. The Khanna’s have only one child, a daughter — Kavita. Further, it is
known that exactly one of the following cases is true: I. Mr. lyer is Mrs. Khanna’s brother.
Il. Mr. Khanna is Mrs. lyer’s brother. lll. Mrs. lyer is Mrs. Khanna’s sister.

SIS § - AT ve fAasr 3reay 3k e vs s @) 3reat 1 dhael T § Tt e -
R | @1 Y Fael TFh AT &, T 91 - HAdTI S 31T, I8 A ¢ T Aefaf@a
ATHAS H A TFH FeT & 1. 20 329 shAc) @oar & 78 § | gfadiy. faee @ea s sy
& aE &1 1. Ao 3zm) A @ FragT &
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If Mrs. Khanna is Vineet’s maternal aunt, which of the following cases
could be the correct one?

Ife fAdr @1 Asfia i A § O Aafef@ad F @ sla-arn
HATHAT WET & hdT 87

A. Onlyl B. Only Il C. Only il D. Either | or Il

E. Eitherl or lli
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Which of the following statements is definitely true about the common
grandfather of Vineet and Kavita, if one disregards case II?

fadlia 30T Ffaar & aHT geT F TR # Arafaf@d & 4 i &r
4 Aftad v & a7 7, I 1§ F7 1A 39817 FIar g2

A.He is the father of Mr. lyer.

B. He is the father-in-law of Mr. Khanna.
C. He is the father-in-law of Mr. lyer.

D. He is the father of Mr. Khanna.

E. None of these
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